Recursive Descent Parser Example: 


<A> ::= a <B> c | c


<B> :: b <B> | (
void A() {


switch(Token.type) {


case a:



match(a);



B();



match(c);



return;


case c:



match(c);



return;


default: error();


}

}

void B() {


switch(Token.type) {


case b:



match(b);



B();



return;


case c:



return;


default: error();


}

}

void match(int tokenType) {


if (Token.type== tokeType) Token = getToken();


else error();

}

EBNF Parser Example: 


<A> ::= a [b] {c} 

void A() {


match(a);


if (Token.type == b) match(b);


while (Token.type == c) match(c);

}

Building a Syntax Tree: 


<E> ::= <A> <T> .


<T> :: + <A> #+ <T> | (

<A> ::= 0 | 1

treeNode E() {


treeNode t = A();


t = T(t);


match(Period);


return t;

}

treeNode T(treeNode t) {


treeNode t1, t2;


switch(Token.type){


case Plus:



t1 = match(Plus);



t2 = A();



t1.addChild(t);



t1.addChild(t2)



return T(t1);


case Period:



return t;


default: error();


}

}

treeNode A() {


switch(Token.type) {


case Zero: return match(Zero);


case One: return match(One);


default: error();


}

}

